Lesson Seven: The Second Declension (Module B)
Feminine and Neuter Nouns
Morphology: The Nominal System (Part 2)
Study Aid Level Three: Mind Bender

Choose the noun or nouns that are the same gender, number, and case as the
key word. More than one match may be possible.

Example: TGV oppoavidy | kupley oddv  Epywv  Becdv

In the example above, opdpavav is parsed as masculine genitive plural.
AIthough kuplw is masculine, it does not agree in number or case with
opdavav. The next two nouns (08 and epycov) agree in case and
number, but not in gender. The only noun opdavcov agrees in gender,
number, and case, is 0scov. Therefore, the only correct answer is Bgcov.

Key Word

1. | koouou Bnptou Soulou EVOYYEALCD
2. | Bpovol odol Upvol BiRAot

3. | Siokove Epyols KUPIE SouAe

4. |1gpou Beov Aoyou EPYOU

5. |evayyehw | Swdpwd XploTe aPucow
6. | YaAuos XpioTov oxAol TTeTpos

7. | odols StaAeKTOIS aBuccols oUPOVOIS
8. | xopov Scdpov EPYOV oxAov

9. | Aoyous odous vouous NikoSnue
10. | AeTpGd BiPAw StoAekTw XploTe
11. | aBuccol odol Aoyol avBpaTTol
12. | amocTohov | adeAdov ayyesAov TTeTpov
13. | uubou olkou Bnpiou guayyeAlou
14. | Scdpov oSV EQY IV Becov

15. | BavaTous Kuplous Bpovous EPYO

An answer key for this exercise is provided on the following page.
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Key Word
1. | koopou nptou SouAou guOyYENIw
2. | Bpovol odol Upvol BiRAot
3. | Siokove Epyols KUPIE SouAe
4. |1gpou Beov Aoyou EPYOU
5. |evoyyehlew | Scdpw Xp1oTd aPucow
6. | pohuos XpioTov oxAol TTeTpos
7. | odols StaAeKTOIS aBuoools OUPOVOIS
8. | xopov Scdpov EPYOV oxAov
9. | Aoyous odous vopous NikoSnue
10. | Aemp&d BiPAw S1oNEKTCD Xp1oTdd
11. | aPBuccol odol Aoyol avBpaTTol
12. | amocTohov | adeAdov ayyeAov TTeTpov
13. | uubou olkou Bnpiou guayyeAlou
14. | Scdpov oSV EQY IV Becov
15. | BavaTous Kuplous Bpovous EPYO
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